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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 amdards” IO ardeBdon Hifs dnd IR BTN Do)y ding), eDTTyio AL
20308 S6:0 BHODED Mogrod Aurgono?
3]

‘Which of the following is an anthropology museum that presents an integrated story of the
evolution of man and culture with special reference to India?

Ans « 1.
QOBTTT0S T7a0l B Roffarerol (IGRMS)
The Indira Gandhi Rashtriva Manav Sangrahalaya (IG
x Q0QTTFol Yool (IGS) @
2,
The Indira Gandhi Sangrahalaya (I
3.
QOBT° 1o TR0 RoffFe0D & )
The Indira Gandhi Jantu S aya (IGJS)

o4
ROATP TPOG P09 &

The Indira Gan

(IGMS)
Sangrahalaya (IGPS)

% ID : 9864494391
Status : Not Answered

! Crpsen Option : ==

Q.2 QOEID e35yDeS° Aebare [SLEVENVRSEALARSLEVIEY Do o,

/]

Select the option that represents the number of triangles in the given figure.

/]

Ans X"-].Z
< 210
V14
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Question ID : 9864495050
Status : Answered
Chosen Option : 3

1/29



9/14/2018 Qp.html

< 415

93 300 TrdS° DB 86D Doay?
Among the following which is a rational number?

Question ID : 9864494514
Status : Not Answered
Chosen Option : --

Ans  of 1 337
> 2
3
>4

L I S -
SHe
[} R | B 6

Q.4 & 30 DSOS’ HF) MM (?) R0 &6 5D JodsR JocvFod.

©2PF-ED* _,

Question ID : 9864494368
Status : Not Answered

Chosen Option : --

(0.2+0.1)%

Select the option that can replace the question mark (?) in the following equation.

2P®-1)® _
(0.2+0.1)%

Ans x1i
Xz._—?
Xs.l

18 @
vl 6

©

Q.5 IBRS wdse Devce Sobedsd ar 50.0 erjos St ciug, DR0e LIED
Debo D& ?

The latest issued bank notes in the denomination of ¥ 30 b ve what motif on their
reverse side?

Question ID : 9864494478
Status : Answered
Chosen Option : 3

Ans °0 WBE), T°D 66

Sanchi Stupa

Q.6 LA DorIDES 28 DoAY BTPETT PV oax) JocHEol.

158: 384 :: 140:

Select the missing number based on the given related pair of numbers.

Question ID : 9864494732
Status : Not Answered

Chosen Option : ==

158 : 384 :: 140 :
Ans
file:///C:/Users/Hai/Desktop/Qp.html
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ABED :)egges" Tenmggen P, C, B aodosn M exs® 100 (103} AT O TP,
W, X, Y 20bosn Z Derggoen 0B ATE)RD PDEITTO0.

M €5°2 Henrbdd DEFHIO WAL Q) 00:

Stu/
Sub

70|90 | 50| 85
5580|9560
6020|9040
90 | 80 | 40 | 65

SIS

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C .B and M, with the maximum marks in each subject being 100.

Ans X 162
<?
~ 362

N

v 4 625

The average marks of the four students in M is: ég

<1349
W 2. 348
< 3. 347
< 4346
Q.7 Stu/
S“mh P|C|B M Question ID : 9864494777
W (70|90 5085 Status : Not Answered
X [55]80]|95]|60 L
G0 T ['og Taa Chosen Option : --
Z | 9080|4065

Q.8 prradived Sfog ard. mrqoe 2raS wodeo SondE & ez—é afr HE, D HOD
Dﬁéu&eﬁcfb?

The Dhola—Sadiya Bridge, dedicated to
built across which river?

Ans 5% DO

W
Lohit River

x 2 O30 A8

Yamuna River
Mém“ by

v Prime Minister Narendra Modi, is

&3
Narmada River

ot aéh

g .
Ganges River

Question ID : 9864492377
Status : Not Answered

Chosen Option : ==

Q.9 4
08 Fessy oo Sy ¢ Dard ey (o 23% A0 TP EHBDHLONT D

oHod Do eﬁf’xjoséo Q0§ Joed:
If a rod of length zosi iscut into equal pieces of length 23@ then the total number of rods
3 P

obtained is:

Ans

file:///C:/Users/Hai/Desktop/Qp.html

Question ID : 9864493757
Status : Not Answered
Chosen Option : --
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vi9
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Q.10 2Dy Bardgos”, H0d U edd avosgg 2808 H0dcin wouden L, M sodoin N

SO €308, 25 vo anBoi Phen LD DEFgEom ArdIron.

Question ID : 9864495120
Status : Answered
Chosen Option : 2

ETRIED SRED0L S0 s0Boin zjﬁwﬂg_ Dodd 00d .‘{)z:s“?sgam m@mm&m?

In the given diagram, Set U is the universal set and Set L, M and N represent students
studying History, Geography and Language, respectively.

‘What is the total number of students studying History and Geography but not Language?

al Cup at Paftaya on 31 December 2017. This
was his third Asian Tour title o

Question ID : 9864494399
Status : Not Answered

Chosen Option : --

Ans Fo) S0
: Shiv Kapur
(35 oerd
| Gaganjeet Bhullar
cofCeRelzTaley
3.

> 2

Jyoti Randhawa
205 &
Khalin Joshi

p

Q12 e300 2018573 o0 Bots @Sﬂ‘le)a?, 53“03"55}53 asg); CEO. da0?
‘Who is the CEO of Cognizant Technology Solutions as of February 20187

file:///C:/Users/Hai/Desktop/Qp.html

Question ID : 9864492404
Status : Not Answered
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Ans 29280 B0

" Azim Premii
TN, &
Francisco D’Souza

HOGRD DEFED

Nandan Nilekani

e o

&4 T
Vishal Sikka

Chosen Option : --

Q.13 & 8o mﬁ‘)sa»u 006 PBTHG 570 eeairgaw — IUPAC b — Fraede

TR0 8GN0 oads thoddoed.

from the following options.

X1

| C,H:OH — Ethanol — Ethyl Alcohol

&2
C3H,0H — &Pore — T8 ese)) 355

C;H,OH — Propanol — Propyl Alcohol

w3
C,H;0H — 2o87red — ud@es o) S

C4HyOH — earjoes — m&éﬂa o]
C,H;OH — Butanol — BuMcohol

Select the INCORRECT set of Molecular Formula — IUPAC Name — Common Name

Question ID : 9864494942
Status : Not Answered

Chosen Option ; --

Ans C,H;OH — 2876 — agd vv) 556

C,, H,OH — Methanol — Methyl Alc@'
&4

00(0

o

. present in the centre of

Ans e350Ea0S

AL

Petals
08 I5men (570D

Carpels
POCLS DG (0S5
Sepals
S0 (Pa0R)
Stamens

forms the female reproductive part.

Question ID : 9864494987
Status : Not Answered
Chosen Option : ==

Q.15
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Question ID : 9864494645
Status : Not Answered
Chosen Option : --
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D8 0 FEDE DEDEL 2870:

A. Denad Dz;vaagéo

B. EJ“GQ:S D240

C. 2065 DDz Derasgo
D. @0935 5’)2,3“35?50

Primary growth in plants occurs by:
. Vertical meristem

. Lateral meristem

. Intercalary meristem

. Apical meristem

Ans x A, B, C 208ain D
1.
A.B,CandD

A, B 20dcin D
" S
A,.BandD

C s0doin D ()

W 3 .
Cand D

B, C &0déasn D

e B,Cand D @

oONnwWeE

Q.16 20065 83 Dosrrrd) roboge 2:33:34 5@ PrdeDomred D801 Aretego A
(12305 BT €. WS Bhees 9IS 45 Do 27 eoges e,

D0OCRDDEFED SBoin 37 HAore 16 hgncgeﬁ" ﬁmé'bl [RIe VAT )
Chosen Option : 1

= Question ID : 9864492693
Status : Answered

started the journey 45 mins 27 secs after Sunil and reac estination 37 mins 16 secs
after im. How long did Aml take to complete his j

Ans 2 dotoer 1 DDoaEn 12
&

2 hours 1 min 12
1 dotoer 59 D

1 hour 59

2 fotyer 2 DHaren
o 3

2 hours 2 mins
2 tiotye) 2 oD

POIrErDy W SonerdS ot Do DEed. :
Sunil started his journey at 2:33:34 p.m. and reached the de& t 4:43:45 p.m. Aml
ey?

*

> 2

>4

2 hours 2 secs

A7 208 SReNA . 696 ©5) e9:53)) o TRLDR ey €2 8 13% a1 o, ey 10%
&, 3 S 1y e 5
ePEHANMD (138 STorre06), GG JoME) DO Gt d?

By selling an item for T 696 Unnati incurred a loss of 13%. By how much should she have
raised the price to gain a profit of 10%? Chosen Option : ==

Question ID : 9864494898
Status : Not Answered

Ans .160.08
1.
x < 160.08

.34

X2z
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DobE Botod.

A dzoe Dipygowd”

Saresren D50 zron

[P CB0E); DEJTED
&

PTPo A
I~

B. DaSrewanen

wa?._?aéanm.

1L

[27A) iboa)seﬁ‘.‘ﬁ eopadIYeD

C. 2T 208080 &8T5
a3 @D DIATFR,

s mﬁlbo‘.bo Sodatn

8¢ 20XDDPBHAL RTGEAL

D. 208 Sorergsn o),
TP DESTED Qaisuv%
S0bodwn w8 éﬁ)&#ézu)
G0g), TR e @aéuv%’

£9A eodd

Iv.

e, Dasio aiFs DD

TRoEER

A. Elements combine in fixed
ratios

1. Dalton’s atomic theory

B. Atoms are indivisible

11. The same number of
molecules

C. Sulphate and oxalate ions
are anions, whereas
magnesium and

III. Law of constant
proportions

D. Gram atomic mass of an
element and the gram
molecular mass of a
compound contain

IV. Ammeonium ions are

cations A

Ans X 1. A-IIL, B-IL, C-IV, D-

Q.18 20008 360 aBoos), DHEITFOS Tokd HCH &°D Dairen e 28l :sa‘)s:mm

Question ID : 9864494937
Status : Not Answered
Chosen Option : --

Select the option that correctly matches the contents of the first column with the contents
of the second column.

Ans

- 2.4 2080006
51
24 cm
V2 —2 .4 20830606
—2.4cm
X3 —3.6 203060
—3.6cm

file:///C:/Users/Hai/Desktop/Qp.html

SO, & IGYED Dotdo Igo Jod?

Q.19 ego &t 60 PoBWE Srtess” 28 Dz PHDoeo TorstmdS 20 Dodesd Trzijosdo
g0 WS Goyme a0t 30 DoBDHWG Groed’ 1.2 DedDuNE Jg) e 28 DD

An object of 1.2 cm height is placed 30 cm before a concave mirror of focal length of

Question ID : 9864494973
Status : Not Answered
Chosen Option : --

20cm to get a real image at a distance of 60 cm from the mirror. What is the height of the
image formed?

7129
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X 4. 1.2 2006520626

1.2 cm

Q.20 Srhd % e D08 A DEIDEDHE Sod & 3365 (Pauar esgyd) o
b 0% 93 2= S0 3 e Question ID : 9864495127

28DoDA 1T DN JocFol.
Status : Answered

Chosen Option : 3

ISV LN

Ll
O o

088 ¢ ke oD

A B C D

Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.

Problem Figure

«‘3:[) é@
X 4+B

Q.21 2.8 Dogorena &° 35% Doct. o’ 119 Trawe Dol &by e b &5° eodt

Question ID : 9864492967

Q0 DPLSTL D00 JoEs?
Status : Answered

35% of an alloy was silver. If in the quantity of alloy there g of silver, what was
the quantity of the other elements in the alloy? Chosen Option : 4

Ans =1 204 g
K 2340¢g
X 3273 g
Wwalllg

Q.22
Question ID : 9864494761

Status : Answered

Chosen Option : 2

file:/I/C:/Users/Hai/Desktop/Qp.html 8/29
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ADIRICD DD DOD, AN BN ROTFEPC0 PO BE) SofP @00

:Ifr{jisﬂ)&')) ngoo::‘)oé.
HEeD:
Borielrthe® 28 o oo Frde e SDTeen goa:)mnﬂ“mron.
:ﬁds:
1. Do Harobe Same, Edao by e HELER0 DTBoNorIL) HEdEK
oD SoFard.

2. BoMUrme’D ey errnDsed HELao & DEy odosrd .

Consider the given statements to be true and decide which of the courses of action
logically follow(s) from the statements.

Statements:

Due to heavy rain in Bangalore, the normal lives of the citizens are paralysed.

Course of Action:

1. Government should take measures to help people and avoid life and property
destruction.
2. Government should provide free treatment in all the hospitals of Bangalore.

Ans v 1 & e9:008ob.
1.
Only 1 follows.

&2
Both | and 2 follow.
2 STESaD 9R0RB006. é
3
Only 2 follows. ()@'

X 4 1 S 2 DHAT e9:0D000CD. @
Neither 1 nor 2 follows.

1 208010 2 Bocirr e9:0DBJr 0. @

Q.23 145 2ot TP Dew, 655 ot Tepd Hoigdd creMPIS 36 Do DEHG.

L 4

Den oiog), Dito Joes?

A 145 m long train crosses a 655 m 1
train?

6 seconds. What is the speed of the

Question ID : 9864492690
Status : Not Answered
Chosen Option : --

Ans T0 de52ntochy/ e
4 >/
70 km'h

60 45 Dudach/riotrd

60 km'h
80 &e5* Bubacio/riotd

80 km'h
75 &e5" Dotod/riotad

75 km'h

> 2

v

&4

Q.24 =8¢ AABC = AXYZ subcin e BAC = 55° 090088, LreyNos Seaain ZXY =
Joey?
If AABC = AXYZ and angle BAC = 55°, then angle ZXY="?

Ans X 1.135°

Question ID : 9864494605
Status : Not Answered
Chosen Option : --

X 2.65°

file:///C:/Users/Hai/Desktop/Qp.html
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o 3. 55°
X 4.67.5°

Qp.html

Q25 196 — 19.6 — 1.96 — 0.196 =7
196 — 19.6 — 1.96 — 0.196 =?
Ans X' 1.174.234
v 2.174.244
X 3.173.254
X 4.173.234

Question ID
Status

Chosen Option :

19864492820

:Not Answered

Q26 55 Teainenes” DD Foh0 Joeh?
What is the percentage of methane in biogas?
Ans 1. 75%
X 2.80%
X 3.90%
X 4 60%

Question ID
Status

Chosen Option :

19864493585
:Answered

1

$

Q.27

@

Chosen Option : 2

4
‘Question ID : 9864494790
@ Status : Answered

O

o Z\ vzg &@Z O(b'

> (o.
D e3GA e TrenM 3B D DEE D’ TotuNoEAXD. W D 5,00
DD DT es8yed:

/= @
|D S p&\

A B C D
The above figure is embedded in any of these four figures. The correct figure containing
the above figure is

Ans X 1 B
X2C
X3 A
v 4D

Q.28 x5 308 Toedes’ BICITTTD CB0E), D) OB oB:20 A D&?
‘Which of the following is NOT a constituent of biogas?

Ans

file:///C:/Users/Hai/Desktop/Qp.html

Question ID
Status
Chosen Option

19864494936
:Answered
3
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v E“daﬁ c‘noti?ggﬁ
Carbon Dioxide
LB RO\E
> 2 =
Hydrogen Sulphide
o ‘5"‘59‘35 Zmaﬂgbé
Carbon Monoxide
&4 S0P
Methane

Q.29 suredo A, A;0 g0 30D Dc_)m@m. aureso A GINs) DoGTFRSe DD0?

Question ID : 9864494637

A Status : Not Answered
ns
X 1.2 Chosen Option : --

X 21
X33
V4 qo
Q.30 & 33, desaw ol 8 o Queoo Aol Froozinnciy RO o ol HEATOS” T
SO 5ded 28 Sobed, Z 2 A B0 238 Somrr, HBSE HFy gaedd” ) V en

An element A forms an oxide with formula A, 0, What is the valency of element A?

®Question ID : 9864494728
Status : Answered
Chosen Option : 4

&otron?

ZUDJKNCXVCSLLIEBSFJVATWQK

In the given sequence, if every letter beginning from position 8 from the left is rep.
its next letter in the English alphabet. and Z is replaced by A, then how many Vg
there in the resulting sequence?

ZUDJKNCXVCSLLIERSFIVATWQK
Ans « 1.0 A
~ 22 A

X 31 .
X 43

¥ w7 2 Question ID : 9864494621
is the most Mictile metal. Sta.tus : Answered
Ans « 1. Ay Chosen Option : 2
&2 Ag

X 3. Ph
X 4C

Q.32 28 Dodam cﬂnﬁb 290c108) cﬂnéb SFesener DS, 2.8 SN ofmﬁgj mg_p%"o@

Question ID : 9864494904

A0, APy BN D00, 2EDY D0 G208); DORDOTERID L), ﬁ"oi)ég Stat Not A d
atus | NO nswere

Denaded® orenff Hod AR, S0 dhu) DFPOEAD 0308 JrofE Dendt
b 8 b L Chosen Option : --

DATHDD, IR €7 SEVCRN A1), 28 EDBAD SPeay) Joes?

The sum of the lengths of the edges of a cube is equal to four times the perimeter of a
square. If a quarter of the numerical value of the volume of the cube is equal to the
numerical value of the area of the square, then the length of one side of the square is:

Ans

file:/I/C:/Users/Hai/Desktop/Qp.html 11/29
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&4
E1:11]1'1;5
4

Q.33 Hrd SI0TR0 aﬁfos@ S 9 DoDBTED B . EB:)DQ A00d DEEIED DodTNTe
BT BAGE HOMY oard HORNS 1.2 580 PHBo0d. Yoo o VSN
S0 Hod.
Pinaki is 9 years younger than Bhaswati. Thirteen years hence Bhaswati will be 1.2 times

Question ID : 9864494522

Statug.: Not Answered

as old as Pinaki. Find Pinaki's present age.

Ans 33 VoI D
A
33 years
28 oSBT
&2
28 years

30 ‘&)o&fr@r}aﬂw

e 30 years O®

32 ‘&)o&fr@r}aﬂw

v A@'

32 years

Q.34 28 Bo6dS”, 60% 0ok Deew (EdedanaT, 45% o DgPADDRT 080K 25% 0d

*
28 Mmmm FHDE 2R

rEdesn SO DHeediD Tootd AHNET
FEB0) od?

In a class, 60% of children like Ma 95 like Science and 25% like both

Question ID : 9864494876
Status : Answered
Chosen Option : 3

Mathematics and Science. What ig th 'tage of children who like at least one

subject?
Ans o 1.80%
X 2.45%
< 3 70%
X 4. 55%
Q.35

Question ID : 9864495132
Status : Answered
Chosen Option : 2

file:///C:/Users/Hai/Desktop/Qp.html

12/29



9/14/2018 Qp.html
raa)'ha 250D Da2ad o) 'azf)'ha’) 2SO ok @) St 9707008003 DO

DHOWOICs.
ia

FeL{ATATIVY

DY) Soird Rogen BHD0D Degh Fosan Il 000y 6.

5“{555&)}“0):

1. Deagd DoLardy Hy,BodocEd DAL BoRD SR8 oD,
2. DEFEnd ey SaHEEdS 050 Dopei HEbego ArDaird.

Consider the given statement to be true and decide which of the following courses of
action logically follow(s) from the statement.

Statements:

The manufacturing companies in Tamil Nadu are facing acute power shortage.

Course of Action:

1. Government should take steps to solve the power crisis.
2. Government should shut down manufacturing companies to save power.

Ans . 1 &0bain 2 Bt £9:00200r000.

Both 1 and 2 follow.
1 a0,

x

2.

Only 1 follows. é@

; 1 S 2 GocotdS® Db e93DBoE. (b'
Neither 1 nor 2 follows.

2 S0PEED 092070008, @,
4

. Only 2 follows. !A

Q36 4 +§ X [{- 12 % (24- 1&\3¥ + (20- 4)] =2

4+§x[{-1zx ~3)} + (20- H)]="?

Question ID : 9864494569
Status : Not Answered
Chosen Option : ==

Ans X 1 5
X 24
”36
W3

Q.37 a8 esoran Doy o) DD T ODAD S0 10 IO 606, LEDV VDAV 4
Dod BTN FECDNA 3 BHeDIoNH 2ol Doy E 23 TR easdedamd Doy !

The denominator of a rational number exceeds its numerator by 10. If the numerator is
increased by 4 and the denominator is reduced by 3, the number obtained is Z. The original

Question ID : 9864494866
Status : Answered
Chosen Option : 4

rational number is:

Ans x1i

19

v

12

Xs.i

17

file:///C:/Users/Hai/Desktop/Qp.html
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13

XaZ

T 23

Q.38 @dgisd DLy ertyd My DD IO 28" TowHoywmads. ¢
Question ID : 9864495030

a0y eyd DO?
Status : Not Answered

Chosen Option : --

Problem Figure

AN

B & By

Problem Figure - 2a0arg 35,8

Answer figures - DR €508
The given Problem Figure is embedded in one of the given Answer Figures. Which is that

Answer Figure?
Problem Figure Q

VAN '

J— @
sla@e
- X A(b'

v2D
X3 A .
X4aC

Q.39 . b
‘B?a')ﬁ'l D0 20 D) ? Question ID : 9864495059
Status : Answered
_50! _4?! _44! TR Chosen Option : 1

What will be the 20th term in the given sequence?

=50, —47, —44,

Ans «1?
<210
X310
X7

Q.40 28 58 28 o0 T 96 $ 5D ubaid A 12.57 ererds ed),®, & DR
Question ID : 9864494558
aing); ) So Do
Status : Answered
If a person bought an item for T 96 and sold it at a profit of 12.5%, the selling price of the .
Chosen Option : 3

item was:

file:/I/C:/Users/Hai/Desktop/Qp.html 14/29
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Ans X' 1. T 110

X 27105

X 3T112

W 4 T108

Q.41 @eeda HEOD D2add rdod DEOVS® QDM VATTPC0 BETECOTT I T Sore
Question ID : 9864495040

Status : Answered
HELdeD: Chosen Option : 3

RDAFEIT Dol

2B’ sreniygo DB PO TEEHE BDTGAITHRND oS DodBd. HIS Soto
FATINE Sodam extS’a0ES agrTren.

g
1. estF2000e5y D 8% dwdoin 08 Feren Sr@Dy HMHT AEBIET DO
Do,
2. B¢ SoorToren anboid ShErRre SR HEhego eard.

Consider the given statements to be true and decide which of the suggested courses of
action logically follow(s) on the basis of the information given in the statements.

O

Statements:
The pollution and air quality in Delhi is bevond the acceptable level. This is due to
industrial and automobile exhaustion. *

Course of action:

1. Automobiles should be divided into groups to be run only on odd and even dgys,
respectively. E

2. The government should stop the registration of new factories and vehicles.

Ans 1 200050 2 Gotir e9:0RBIr0m. (b,
1.
Both 1 and 2 follow. O

2 QG0 9:0G006. A@
. Only 2 follows.

1 dordian s
. Only 1 follows.
. 1 &odojw 2

Neither 1 n

2

L 4

<3

e9:000000cde).
v

ollows.

2 9 .
Q42 i a0cs EE AT a‘_l']élanveﬁé DE 7 9 D@ 5760? Question ID : 9864494891

5 Status : Answered
Which of the below given fractions is NOT equal to ;‘? Chosen Option : 1

Ans x1 153
" 29

JQE

221

x:;ﬂ

119

Xao

51

Q.43
Question ID : 9864494460

file:/I/C:/Users/Hai/Desktop/Qp.html 15/29
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FTre5 &5 260 2018 ardod sudree erdyoh @"03)02&)-5&)5)3 48 3¢50 Dertianes” Status : Not Answered
LIOTPED D50 PH00R eSS £ @;‘8.‘1)6_350 DRTEDDY A R0 0Rd oY DTS Chosen Option : --
0 5}{)306‘..

Name the former world silver medallist representing Manipur who claimed gold in the
48kg category at the 2018 National Women’s Boxing Championships in Rohtak.

Ans oedoed,
A
Mithali Raj
, Feor Dodé
Shobha Pandit
DheFer Do)
3 °

Sarjubala Devi
, D008 oS

<

<

Sravanthi Naidu

Q.44 MG a6

16— [5—2{140f2—(8+4%x2—1+3]] C,‘

The value of

16— 5~ 2Fi4 of 2— (B4 X 2 — 14 3)]ig:
Ans X1__g BQ
X2 _14 (:b.

Vs —10

X412 @'

«

Q.45 28 Fursed G0yEed™ D DoPB0R dve Sog Dok 0807

Question ID : 9864494994

The centre of the reflecting surface of a spheric
5 S Status : Answered

lrr(x is a point called the 3
Ans

ﬂ"é.ﬁ"ﬁo Chosen Option : 3
1. o

radius
R°5), Gog
aperture
PN Y]

focus

GHdEaD

pole

Q.46 & 308 D Bardgren . PG 2babL APEES L] Vo) ATFDFOD.

tion ID : 44947
Which of the following diagrams represent the relationship between Male, Husband and Question ID : 9864494730
Model. Status : Not Answered

Ans Chosen Option : --
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%) S
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i . O(b’é
RX4

Q.47 Rogeroly egEree’ Sod o0 DO D0

Question ID : 9864494684
Status : Not Answered

Which of the following elements was the in Newland’s Law of Octaves?

Ans
v Edoio

Chosen Option : --

Thorinum
x 2 MDA

Rubidinm

X3

Q.48
Question ID : 9864494770

Status : Not Answered

Chosen Option : --
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R gy D DOriEdocsed. DoBOI & ) £ DAFLTBo AIEEOS 6 Job HELD &°

6 HOD00ES Dgoxocsoc.
X 585¢3 Y Zood axeso émgm‘la;. Q8 Bansd SRuE el .
SseHeD:

1. X 3 Donoyore amare T 500 e of Sfomre.
2. X 3 Dodsyore athare Y3 I1500 en Do) 655 ey éci:ﬁmn‘lm.

Consider the given question and decide which of the following statements is sufficient to
answer the question.

X took a loan from Y on compound interest. Find the rate per anmum?

Statements:

1. After 3 years, X paid ¥ 500 as interest.
2. After 3 years, X paid ¥ 1,500 to clear his loan with Y.

W

03 5 DOTFTEHOT 1 S 2 DEDB00d.

Either 1 or 2 is sufficient to answer the question.

x: S
09) £ DAPTEROMT 2 SE 0T 08, 0@ 1 ATy OF. ()

2 alone is sufficient while 1 alone is not sufficient to answer the question.

X 3. *
99) £ DAFTFIOT 1 300 DO 008, €008 2 ArGDd VOV . @

1 alone is sufficient while 2 alone is not sufficient to answer the que on@
X
FQ%:LSJ arrrcaorr 1 Suboiv 2 ot w0 g

i01.

Both 1 and 2 are sufficient to answer

Q.49

Ans

DEDES 09D e PErES 577 16 R0DanTren AR D, 12 ondanores®

Question ID : 9864492953
Status : Not Answered

* ) . Chosen Option : ==
aibal’s age will be 1.5 times that

2P DONRD DS HODKOL 1.5 e ©:nsI0d. DNEDCO PErS daRLy

Joes?

Bipul is 16 years younger than Saibal. 12 yeggs

of Bipul. Saibal is now years old.

W36
X 245
X 342
X 4.40

Q.50

Question ID : 9864495135
Status : Not Answered
Chosen Option : --
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Stu/

70 [ 90 (50 85

55 |80 (95| 60

<| x| =

60 | 2090 | 40

Z | 90 |80 | 40|65

RN DY e wP%en P, C, B 2udoin M ©65° Senrd Dogdoen 100 (183

artopen W, X, Y coboin Z en SFodd Ay e ardaned.

@D DAFEdo eerdorT, P, C, M &pdain B £8 eagsgery TS0 Todd Dergd:

Stw/
Sub

W | 70| 90| 50| 85
X | 5580|9560
Y (6020|9040
Z | 90| 80| 40|65

P C B M

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.

Based on the given data, the student who got the lowest percentage in P, C, M and B O

combined is:
Ans ( "4 0
K 2w
X3 X
X4z

@t Cl%wb?éﬁ é“mJSo?‘j“ Q&‘)ﬁ)"oﬁ) ekt el Question ID : 9864494508
Which of these rivers primarily flows in South Qi Status : Answered
Ans 2930505 DO Chosen Option : 3

1_ %
Orange River !A
3

exd SO
&2
Niger River

e A&
o3
Nile River

, S0l 6
' Congo River

Q.52 210700 €080 P (DR SLE0 DV DE? )
Question ID : 9864494969

What is the value of acceleration due to gravity on the surface of the earth? Status : Not Answered

Ans 2 .
0.6 2oB00t6 [2a80d Chosen Option : --
X1 /2

9.6 cm/sec?

9.8 20836 [280E’
> 2.

9.8 cm/sec?

10.8 566 /808"
3. 2

10.8 m/sec?

file:/I/C:/Users/Hai/Desktop/Qp.html 19/29
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SIS

A B C D

IS E

A B C D
Ans «1-]:)
K2 A
< 3B
K4 c

Q.53 30d HAPHEDS Do) e35AD JocbE ol

Question ID : 9864495039
Status : Not Answered
Chosen Option : --

Select the figure that does NOT belong in the following group.

O

DB DD 2 63" X gobd?

facing now?

South-West

PO O

> 2 5
North-West

éa?’;&go
North-East

Q.54 egcaporr eotar, X 2057 2apdae dudain award 160° ety

Questlon ID : 9864494772
' ) Status : Answered
Facing North, X turns 205° clockwise and then 160° anticlockwise. Which direction is X
hosen Option : 4
Ans DDA
P A

earyy O
3 A) !
South-East

Q.55

file:///C:/Users/Hai/Desktop/Qp.html

Question ID : 9864494712
Status : Answered

Chosen Option : 4
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WD Do Dod Sl BHEDHLVT Gol, Sobd &dddbs S Ado(R:070] 35)3) s,
DoDEA) docoEod.

[RISUSIEEENT

Problem Figure

o] e
OO

A B C D

Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.

Problem Figure

Q.56

Ans

a8 DG HeHzo A1), AP IO ot AP AEHEred BOLHATD B O
BeHzo g, DA thHae DG GEhae MY RV ghaoets” T Do

DD DY BEbere Doge DO B0 NDD DY Bibe DY)

Question ID : 9864494585
Status : Not Answered
Chosen Option : --

of each of the smaller friangles is one-fourth as long as each corrgs ide of the
bigger triangle. The ratio of the area of the three small triangles ther to that of

the rest of the bigger triangle is:
K11:5 A
X23:16 *
K34:15
v 43:13

Three triangles are marked out of a bigger triangle at the three Vﬂl@ each side

Q.57

Ans

28 20050 (D) £ DAFENoHN DALy DNA 2o I&?

A section of DNA that provides information for one protein is called the

3P0
&,

Question ID : 9864494988
Status : Answered
Chosen Option : 3

lysosome

x 2 g DE 0
chromosome

v 230 Sea (29)

gene
mggm
4.

nuclens

Q.58
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.

&2

3.

v

15 Daren
15 minutes
20 davaren
20 minutes
30 Daarew
30 minutes

24 Daanaren

24 minutes

Qp.html

Toch) HODNO DO EPGHAD ot 62 3687 Deg Dosd’3 zlnoemeﬁ‘ Dorrosadny.

20607 DO (ot 8 365" D0 Dodadd Jo HIAOHARD 5T Bokday ?

The distance between two places can be covered in 3§h0urs at a speed of 62 km/hr. If the

Question ID : 9864494860
Status : Not Answered

Chosen Option : --

speed is increased by 8 km/hr, how much time would be saved?

Ans

A

&2

3.

v &

Mohammad Azharuddin

2065 ea0Ser
Salil Ankola
2070 3P
Zaheer Khan
DD, Frof

S. Sreesanth

Q.59 ) 8565 aaed SemsoeD ‘A8 57 sBoiw ‘09536 27 Dod Qe HBoeren?
‘Which ex-cricketer has acted in the movies ‘Team 5° and ‘Aksar 2°?
S0PV O Eﬂaﬁbﬂméﬁ

Q.60

file:///C:/Users/Hai/Desktop/Qp.html

Question ID : 9864494100
Status : Not Answered

Chosen Option : ==
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& 308 DHS D& 5 O P DOEVL DD 10 D BO6D, Dertio A Hdaw B
&5°D DEF{HO Hoa§ BLDLHA0E.

DHddo Szrrio A dzriio B
ot DOLGH" AP DDUID DIFIHO Do 28 23
E ©f), & DD PIS DBLS eBETD 14 12
Z)a“ég}u R}o.;ué
E ©f), & &HES DS DL DdeTD 6 17
é.')m;ggm [SLEN
Botd DHbLeres e@ga o6 ola{s SERSTEV 64 55

PN DATFET0 eSTCorP, 08 HOLE” edge Todd Darro A Soeggoe

B0

The following table gives the details of the number of students in Class 10, Section A and
B, who had taken their midterm and final exams.

Result Section A Section B

Total number of 28 23

students who failed in
both the exams
Number of students 14 12 0
who failed in the

midterm but passed in *
the final exam

Number of students 6 17
who passed in the
midterm but failed in

the final exam @
Number of students 64 55

who passed in both
the exams

Based on the given data, the percentage of Section A students who pa sse@nual
exam is : @
Ans X 169,69 <\
X 2.69.54

/< 3. 69.70
W 4 69.64

*

Q.61 exep0d Bare DhoLos D" DO BaYY? .
- ° Question ID : 9864494960
Which of the following st ts is wrong with regard to strong acids? Status - Not Answered
Ans )ﬁ 1. Chosen Option : --
EEB5 esio, “’rom‘)gﬁé 35300 SDBOTL DBS €520 LIVZVD e,

Hydrochloric Acid, Sulphuric acid and Nitric Acid are strong acids.

892D DA ITPED EIODIN) RITPeD
<2
All minerals acids are strong acids.
Y )
DAL OV M) SBAD 6Ir0IE DIFTTED.

Acids are those chemical substances that have a salty taste.

>4
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Strong acids react very rapidly with other substances (such as metal carbonates and metal
hydrogen carbonates).

Q.62 ‘& 2D 0D 2AFrHE(RDS woP) VIS’ FIrEs TEEE WOETEve
SAEATPED ), g Diheds Dt J1?

‘Which actor plays the role of social activist Arunachalam Muruganantham in the biopic
movie ‘Pad Man’?

Question ID : 9864492352
Status : Answered
Chosen Option : 3

Ans WDEJ Fh )
<1 :
Irrfan Khan

, 2T oeTeed

Mohanlal
298 00 L6

3.
Akshay Kumar
, oo HE356
' Nana Patekar

O

Q.63 20& esyd cio); PADoer DDy HGod JodER JocE ol

Select the option that depicts the correct mirror image of the following fa@

<
(%
‘AA

X

& 3.

&4

wstion ID : 9864495052
* Status : Answered

hosen Option : 1

Q.64 2 esdisro 40,000 Se5°Doerd 6“53“20 £B0 &0 EDEP B Sg‘ﬁgeﬁs @mw}@m‘lg@ es
E0r0 P DT g 3§ Joa?

Calculate the work done by the force of gravity when a satellite moves in an orbit of
radius 40000 km around the earth.

Question ID : 9864494992
Status : Not Answered
Chosen Option : --

Ans
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8000 a°slyy
&
8000 J

0 83“‘*5{}0
\( 2.
071

4000 ﬁ“%a
3
40007
400000 a;“m;,
&4
400000 T

Q.65 2 3065 mdGRICiOT0MY D 208 DIVTFETHAD DY 0V, SHOIROYED. T°0 S0ESf(esn
DOTR0Y Joes?
7.9,8,6,5.3,9,2.

Given below are the ages (in years) of a group of children. What is the median age?
7.9.8,6,5,3,9,2.

Ans \(1-6.5
X26
X 3.6.125
X45

Question ID : 9864494608
Status : Not Answered
Chosen Option : --

©

*

A8 20 aag), D errio TR DoDoBRH?

Which part of the brain regulates breathing?
Ans rf.')ﬁ')l FabiAlab]

al fox
Cerebellum O

M}S-Mﬁj

Kao o
Mid-brain ‘AQ

el
« 3. =
Medulla

A0 D
&4

Fore-brain

Question ID : 9864493596
Status : Answered
Chosen Option : 3

Q.67 e58ywd ey prEad sudoin 6 Surosomn(w) & SBACINDY LEaVvR) ger

9083 :

Acids that contain Hydrogen and other non-metallic element(s), except Oxygen, are
called:

Ans DIEHE) eFAVAVED)
. "
Dilute acids
TGS €9:20:000e0)

2
Strong acids

]
£IEJoT”A) BSaaTPED)
3. e
Weak acids
oL e Toh)
v S B
Hydracids

Question ID : 9864494920
Status : Not Answered
Chosen Option : --
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mngamﬁ":) 28 2D DT LoMEH TR GHIBTRICS DO g IA?

Name the character in Mahabharata who was blessed with the ‘divine vision’ to see the
Mahabharata battle and explain it scene by scene to the blind king Dhritarashtra.

Ans EIEITRa0NI0L)

A
Balarama
000D

Sanjaya
lablablab)
Vidura
tﬁfn);)wﬂi}

v

&3

>4
Dussala

Q.68 =vatercesaned’ svabarees oinganm [t lataskel:d ‘éa‘)gtﬁaig’ e ¢ farocseIC, sabeIetied

Question ID : 9864494505

Status : Not Answered

Chosen Option : --

Q.69 magedd DO Deoad HBMted wodTreS” IG6(D) BwERS(E) dyanosed.
DEOD:

©64 Dinaed’, 2.8 ARG "IHTN D Sored Pand B, B b DL

66 BIran"end DAy,

0TI
1. Boosood derjgoen 050 bavciod® 5 Sy,
2. Dergdoen HHES Do s Soien.

in the statement.

Statement: @

During an exam, an invigilator said, “if anyone tries to copy, [ will canc@ exam’.

Assumptions:

1. Some students copy during exams. A
2. Students will not copy during exams. !

Ans

290 1 0o 2I0RA.
Only assumption 1 is implicit.

290 2 TP BdELME.
>4

Only assumption 2 is implicit.

Question ID : 9864494739
Staills Wnswered
Chosen ion

Consider the given statement and decide which of the given assumptions is (are) i@@

O

L 4

Q.70 FocH Hxpane DVCS LRTRD JRIKDYET® DTS BALD dAFErT

€507 000. APYD PS°C0 S LSS 0 DD Dewred:

The forces between two bodies are always equal and opposite. This
idea is stated in the form of Newton’s:

Ans ‘(1 e Glaad Mmoo
' third law of motion

file:///C:/Users/Hai/Desktop/Qp.html

Question ID : 9864493200
Status : Answered
Chosen Option : 1
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X2 Dot (Fadosd MO0
" second law of motion
G e oo
~ first law of motion
208 0B01L Todad Haad Dalao
 first and second law of motion

<3

p

Q.71 exgio AB &° gocserdd, 3ob Doay dlug) AT GOy DADeerdy JoEod.

Question ID : 9864494747
Status : Answered
Chosen Option : 4

B
Select the option that depicts the correct mirror image of the following figure if the mirror
is held at the AB line.

E
B /\ @é@
ZaW, Q@'O
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Q72 135 Daorerdolf & Sod oD BEHEGE:
1) o°¢54(W)
2) 8" are5y(KW)
3) 1 465" om¢5 e9:56(KWh)
4) 1 5564006 (HP)

(C) 1000 are5y(W)
(D) 746 oee5y(W)

Match the following with the correct response:

X 3.1-A, 2-C, 3-D, 4-B
W 2 1-A, 2-C, 3-B, 4-D

s

(A) =3 Hoeoco(Nm)
(B) 3.6x10° ef—‘fﬁh(d)

Question ID : 9864494651
Status : Answered
Chosen Option : 2

$

(1) W (A) Nm 0
(2) KW (B) 3.6x10°7J
3) 1KWh  (C) 1000W **
(4) 1HP (D) 746 W @

Ans X 1.1-D, 2-B, 3- C, 4-A @
X 2.1-A, 2-B, 3-C, 4-D é

QB 14+ {(50f2—3)}x47—2) ea):

The value of 14 + {(5 of 2 NX4(T—-2) s

Ans 14
P4 Rl
19

v 2. 40

1
p g R
10
X 4 44

Question ID : 9864494834
Status : Not Answered

Chosen Option : --

DTy gmﬁboa.

YP,  .58,LD

Using the sequence VWY9PONISFSLUDTG61AJ, find the term missing from the
following series.

YP,  .58,LD

Ans X1_0T
X 2. N5

file:///C:/Users/Hai/Desktop/Qp.html
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Question ID : 9864495051
Status : Not Answered
Chosen Option : --
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Q.75 558" €ocndn (07 JOTR Lo DPDD argo:
the formula:
Ans X 1 In—2
X 22n
X 3. 2n3
W 4 22

The maximum number of electrons that can be accommodated in a shell is indicated by

Question ID : 9864494623
Status : Not Answered
Chosen Option : --
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